



Sales Tax Exemption

Prairie View A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of the Prairie View A&M University.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order		
Purchase Order Date	PO/Reference No.	Revision No.
Jun 27, 2023	AB0824672	0
Contact instructions for questions regarding this Purchase Order:		
If Buyer Contact information is listed below, please contact the Buyer.		
If not, please contact the Customer.		
Buyer Contact:		
Buyer	Buyer Email	Buyer Phone Number
no value	no value	no value
Customer Contact:		
Name:	Jennifer Erdely	
Email:	JLERDELY@PVAMU.EDU	
Phone:		

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Prairie View A&M's Department of Procurement and Disbursement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Prairie View A&M's Terms & Conditions, which are available online: <http://www.pvamu.edu/pdsv/wp-content/uploads/sites/88/PVAMU-Ts-Cs-FINAL.pdf>

Supplier Information		Delivery Information	
Supplier Name	B&H PHOTO B&H FOTO & ELECTRONICS CORP DBA	Delivery Address	
Address	420 NINTH AVE NEW YORK, New York 100012404 United States	TAMUS Member:	05-Prairie View A&M University (05)
Phone	+1 800-947-7784	Attn:	Portia Milan
FOB / FREIGHT	Destination	Languages & Communication	
Pre-Pay & Add	No	c/o Central Receiving Warehouse	
Payment Terms	0, Net 30	Room	105
Contract Number - Header	no value	1178 Reda Bland Evans St	
Contract Number - Line	B&H Photo_Eandl_Punchout	MS 2220	
Quote number		Prairie View, TX 77446	
		United States	
Delivery Information		Required Delivery Date	
Required Delivery Date		Ship Via	Best Carrier-Best Way

Notes to Supplier

PO Clauses

Header	001	No Collect Freight Charges Accepted	Neither COD nor "Collect" freight or handling charges will be accepted.
--------	-----	--	---

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 21	32GB Ultra UHS-I SDHC Memory Card SA32GBU4SDHC	SA32GBU4SDHC	EA	6.76 USD	33 EA	223.08 USD
	Supplier Part Auxiliary ID	1317728				

Manufacturer Name	SanDisk
Manufacturer Part ID	SDSDUN4-032G-AN6IN

2 of 21	VXLR 3 5mm TRS Female to XLR Male Adapter with Phantom Power Converter ROVXLRP	ROVXLRP	EA	18.75 USD	1 EA	18.75 USD			
	Supplier Part Auxiliary ID	1385035							
		<table border="1"> <tr> <td>Manufacturer Name</td><td>RODE</td></tr> <tr> <td>Manufacturer Part ID</td><td>VXLR+</td></tr> </table>				Manufacturer Name	RODE	Manufacturer Part ID	VXLR+
Manufacturer Name	RODE								
Manufacturer Part ID	VXLR+								
3 of 21	2TB Extreme Portable SSD V2 Black SAE612TB	SAE612TB	EA	119.39 USD	3 EA	358.17 USD			
	Supplier Part Auxiliary ID	1385035							
		<table border="1"> <tr> <td>Manufacturer Name</td><td>SanDisk</td></tr> <tr> <td>Manufacturer Part ID</td><td>SDSSDE61-2T00-G25</td></tr> </table>				Manufacturer Name	SanDisk	Manufacturer Part ID	SDSSDE61-2T00-G25
Manufacturer Name	SanDisk								
Manufacturer Part ID	SDSSDE61-2T00-G25								
4 of 21	64GB Extreme PRO UHS-I SDXC Memory Card 2-Pack SA64GBEPSD2K	SA64GBEPSD2K	EA	25.98 USD	10 EA	259.80 USD			
	Supplier Part Auxiliary ID	1385035							
		<table border="1"> <tr> <td>Manufacturer Name</td><td>SanDisk</td></tr> </table>				Manufacturer Name	SanDisk		
Manufacturer Name	SanDisk								
5 of 21	ProTactic BP 450 AW II Camera and Laptop Backpack Black, 25L LOLP37177GR	LOLP37177GR	EA	220.34 USD	1 EA	220.34 USD			
	Supplier Part Auxiliary ID	1385035							
		<table border="1"> <tr> <td>Manufacturer Name</td><td>Lowepro</td></tr> <tr> <td>Manufacturer Part ID</td><td>LP37177-GRL</td></tr> </table>				Manufacturer Name	Lowepro	Manufacturer Part ID	LP37177-GRL
Manufacturer Name	Lowepro								
Manufacturer Part ID	LP37177-GRL								
6 of 21	Podzilla Large Tabletop Tripod Gray JOJB01661	JOJB01661	EA	0.00 USD	1 EA	0.00 USD			
	Supplier Part Auxiliary ID	1385035							
		<table border="1"> <tr> <td>Manufacturer Name</td><td>JOBY</td></tr> <tr> <td>Manufacturer Part ID</td><td>JB01661</td></tr> </table>				Manufacturer Name	JOBY	Manufacturer Part ID	JB01661
Manufacturer Name	JOBY								
Manufacturer Part ID	JB01661								
7 of 21	CineBeam PF510Q 450-Lumen Full HD LED DLP Smart Portable Projector LGPF510Q	LGPF510Q	EA	570.23 USD	1 EA	570.23 USD			
	Supplier Part Auxiliary ID	1386804							
		<table border="1"> <tr> <td>Manufacturer Name</td><td>LG</td></tr> <tr> <td>Manufacturer Part ID</td><td>PF510Q</td></tr> </table>				Manufacturer Name	LG	Manufacturer Part ID	PF510Q
Manufacturer Name	LG								
Manufacturer Part ID	PF510Q								
8 of 21	LC-XLR Female XLR to Lightning Microphone Adapter Cable for iOS Devices 19 7 SALCXLR	SALCXLR	EA	75.60 USD	20 EA	1,512.00 USD			
	Supplier Part Auxiliary ID	1386804							
		<table border="1"> <tr> <td>Manufacturer Name</td><td>Saramonic</td></tr> </table>				Manufacturer Name	Saramonic		
Manufacturer Name	Saramonic								

9 of 21	DUSM-1 Universal Shockmount for Camera Shoes and Boompoles AUDUSM1	AUDUSM1	EA	21.71 USD	20 EA	434.20 USD
	Supplier Part Auxiliary ID 1386804					
10 of 21	2TB Rugged Mini USB 3.0 External Hard Drive LARMD2	LARMD2	EA	94.72 USD	10 EA	947.20 USD
	Supplier Part Auxiliary ID 1386804					
11 of 21	BoomX-D PRO D2 Ultracompact 2-Person Digital Wireless Microphone System Recorder 2.4 GHz, Black COBMXDPROD2B	COBMXDPROD2B	EA	201.75 USD	18 EA	3,631.50 USD
	Supplier Part Auxiliary ID 1386815					
12 of 21	VT-4000 Tripod System with Fluid Head MAVT4000	MAVT4000	EA	86.92 USD	4 EA	347.68 USD
	Supplier Part Auxiliary ID 1387072					
13 of 21	VT-4000 Tripod System with Fluid Head MAVT4000	MAVT4000	EA	186.92 USD	6 EA	1,121.52 USD
	Supplier Part Auxiliary ID 1387072					
14 of 21	XA60 UHD 4K Camcorder Kit with BP-828 Battery, 128GB Card, UV Filter Bag CAXA60K	CAXA60K	EA	1,999.00 USD	1 EA	1,999.00 USD
	Supplier Part Auxiliary ID 1387072					
15 of 21	3-Year CarePAK PRO Drops Spills CA9619B057AA	CA9619B057AA	EA	202.49 USD	1 EA	202.49 USD
	Supplier Part Auxiliary ID 1387072					

Manufacturer Name	Canon
Manufacturer Part ID	9619B057AA

16 of 21	SR-C2002 3.5mm TRRS Female to Lightning Adapter Cable for Audio to iPhone 3 SASRC2002	SASRC2002	EA	12.85 USD	20 EA	257.00 USD					
	Supplier Part Auxiliary ID	1387333									
		<table border="1"> <tr> <td>Manufacturer Name</td> <td>Saramonic</td> </tr> <tr> <td>Manufacturer Part ID</td> <td>SR-C2002</td> </tr> </table>						Manufacturer Name	Saramonic	Manufacturer Part ID	SR-C2002
Manufacturer Name	Saramonic										
Manufacturer Part ID	SR-C2002										
17 of 21	DUAL LAV D03 Dual Omnidirectional Lavalier Microphones with Monitoring for DSLR Cameras and Smartphones CODUALLAVD03	CODUALLAVD03	EA	52.49 USD	6 EA	314.94 USD					
	Supplier Part Auxiliary ID	1387333									
		<table border="1"> <tr> <td>Manufacturer Name</td> <td>Comica Audio</td> </tr> <tr> <td>Manufacturer Part ID</td> <td>DUAL.LAV D03</td> </tr> </table>						Manufacturer Name	Comica Audio	Manufacturer Part ID	DUAL.LAV D03
Manufacturer Name	Comica Audio										
Manufacturer Part ID	DUAL.LAV D03										
18 of 21	VideoMicro Ultracompact Camera-Mount Shotgun Microphone ROVIDEOMICRO	ROVIDEOMICRO	EA	42.00 USD	20 EA	840.00 USD					
	Supplier Part Auxiliary ID	1387333									
		<table border="1"> <tr> <td>Manufacturer Name</td> <td>RODE</td> </tr> <tr> <td>Manufacturer Part ID</td> <td>VIDEOMICRO</td> </tr> </table>						Manufacturer Name	RODE	Manufacturer Part ID	VIDEOMICRO
Manufacturer Name	RODE										
Manufacturer Part ID	VIDEOMICRO										
19 of 21	DMW-BLK22 Lithium-Ion Battery 7.2V, 2200mAh PADMWBLK22	PADMWBLK22	EA	58.31 USD	1 EA	58.31 USD					
	Supplier Part Auxiliary ID	1387560									
		<table border="1"> <tr> <td>Manufacturer Name</td> <td>Panasonic</td> </tr> <tr> <td>Manufacturer Part ID</td> <td>DMW-BLK22</td> </tr> </table>						Manufacturer Name	Panasonic	Manufacturer Part ID	DMW-BLK22
Manufacturer Name	Panasonic										
Manufacturer Part ID	DMW-BLK22										
20 of 21	Lumix S5 IIX Mirrorless Camera with 20-60mm and 24-105mm Lenses Kit PADCS5M2X24K	PADCS5M2X24K	EA	3,395.98 USD	1 EA	3,395.98 USD					
	Supplier Part Auxiliary ID	1387560									
		<table border="1"> <tr> <td>Manufacturer Name</td> <td>Panasonic</td> </tr> </table>						Manufacturer Name	Panasonic		
Manufacturer Name	Panasonic										
21 of 21	4-Year Drops Spills ALRDC3499N4A	ALRDC3499N4A	EA	215.99 USD	1 EA	215.99 USD					
	Supplier Part Auxiliary ID	1387560									
		<table border="1"> <tr> <td>Manufacturer Name</td> <td>Allstate</td> </tr> <tr> <td>Manufacturer Part ID</td> <td>RD-DC3499N4A_TE</td> </tr> </table>						Manufacturer Name	Allstate	Manufacturer Part ID	RD-DC3499N4A_TE
Manufacturer Name	Allstate										
Manufacturer Part ID	RD-DC3499N4A_TE										
		<table border="1"> <tr> <td>Total</td> <td>16,928.18 USD</td> </tr> </table>						Total	16,928.18 USD		
Total	16,928.18 USD										

Billing Information**Billing Address**

To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail vendorhelp@tamu.edu.

Invoice must include the PO/Reference number shown above.

Prairie View A&M University-
Accounts Payable

Do Not Mail Invoices

Email invoices to Payables@pvamu.edu

P.O. Box 519

MS 1311

Prairie View, TX 77446-0519

United States